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54 F @®E4A3(NVO0OLVERI16.54
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23 /AR K Rk 3 (BB B TR ) 17. 02
29 HJIIBEERS 4 (TEAMAK) 17. 06
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M5 RUN. jp13.74(-1.
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4[ 5]
5[ 7]
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10 8]
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[148] ( +1.0 m) [248] ( +2.0 m)

102] 29HO fE%6 (K & /N)14.05 102] 12&EE 24 RUN. jp15.93
20 1] 13)Il = FE#j6 (RUN. jp)14.66 2[ 3] 10 HE ZF{HKS5RUN. jpl16.07
3L 7] 3R &< BH6 (AEV=2=7)15.10 3[ 7] 9BHE HJJ3RUN. jp)l16.08
40 4] 2K TH6 Kgva=7)15.19 40 8] 15@WH =3 RUN. jp16.42
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706] 19ARM HEF5 GEEMHER)15.47 [ 4] 214 #je 5 (BT FER) Ri5
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[3%8] ( -0.7 m) [4%8] ( +2.0 m)

1071 22%& # =5 (FBEfRER)16. 69 103] 20t L& 4 BEATHER)16. 25
20 3] 2390 W56 (PBE TR 16. 84 2[05] T8HAK K4 NAREYV2=7)17.59
3[ 2] 17T@EE HBELS WEETRER17.09 3L 6] 267k £ 4 (PRETEER)17.79
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6[ 8] 6&M A4 (AEV2=7)18.19 6[ 7] 257FIF ZE 3 (PBHEMFER)19. 21
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) 1T HAMEME 6 (AEY2=7)15.19(+1.
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2[ 8] 369/ #k 3 (BE & — Ji)11.88 2[ 1] 86 A #BH2 (E B K %)12.08
3[ 4] 7577 R B2 (Gr&/hEtH)11.89 3L 5] 238K fE=}2 T H H)12.24
4[ 3] 383mEfk Fifk 3 (BE & = Ji)12.04 4[ 7] 374 Ty WEAE 3 (Bf I 78 1) 12,40
5[ 5] 8288 K R 2 GR A & #)12.06 503] M= TF L3 dT H K ¥)12.43
6[ 2] 306 54 T2 Gy I #)12.07 6[ 8] 251N H FEE1 (e K H)12.48
1071 61230 K2 (5 N H)12. 11 10 4] 2824 % =2 (L & 76 4)12.74
8L 6] 27#x s KRAE2 (AT H  H)12. 41 [ 6]7039 Fn /1 H-#3 (B & )R
[3%8] (  +0.4 m) [4#8] ( -0.1 m)

10 7] 767 % RIKE 2 ((F4E/0 )12, 24 108] 214% & 2 (I 3 #1)12.35
2[ 2] 4719 W k) AR 2 (EAINEFMIH)12.37 2[ 5] 469 A A2 (E & B4)12.54
3[ 8] 614m1 H K2 (= W H)12.46 3[ 3] 604 R Il ZfE2 (= N H)12.66
41 3] 2837k Mg FH2 (FERELRH)12.54 A[ 4] TI0 F K 22 (BF&/EH)12.75
5[ 6] 294 ® FH=F2 (E B 1 H)12.67 5[ 1] 261 HE #&ik2 (e & # H)12.79
6 4] 3615 Z&2 (F )II /6 #)12.70 6[ 2] 50375k weHE1 (% 78 H)12.85
70 5] 313 E+#E Mith3 (BB & = H12.75 70 6] 284 =42 (k& 76 #)12.91
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10 1] 206 #HEEF2 (I 3 H41)12.50
2[ 5] 502 Bip2 (B v H)12.63
3[ 4] 608 =H 42 (= W H)12.67
4[ 6] BI3H M 222 (B B 16)12. 67
5[ 3] 764 L HIHAKAS 2 (FH&R/NEHH)12.76
6[ 8] 83b /Il FH1 GR A H H)12.76
70717026 K& &3 (B & #)12.78
8[ 2] 204K & =1 (U JII 3 H1)12.87

(7% ¢ 0.2 m)

101] 30455 |2 (h I 3)12.98
208] 333 WK k2 (G H H1)13.06
30 2] 267/ % M2 (i JII +)13.24
40 7] 304 AAR fE R 1 (FEAELRA)13.36
5[03] 830 B K2 (OR A & $)13.53
6 5] 458/ & Ak 1 (BANFHIH)13. 61
70 6] 288 nmk 5L 2 (kR w6 )13.63
8 4] 506F M A A1 (B w8 )13.87

(94H] ( -0.4 m)
106] 326 K FEK1 (RAIEHEH)13.32
2[ 2] 107 = fE HiE 1 fTHAKHY)13.45
3[ 8] 389 AR HHI2 (B & = JHu)13. 51
A0 5] 321 K H # ¥ 1 GFEAWEET)13. 66
50 1] 31T KK BE} 1 GERAWEFET)13.75
6[ 7] 58ZEH =E1 (T H K %)13.86
10 4] 245% g2 (I B H)14.74
[ 3] 268/ AB K2 (F Il ) RIG
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10717087 %  #& ple2 (B & +)13.55
20 3] 834N RE1GRAH H)13.85
3[8]7077# ks woc2 (B & H)14.16
40610233 #&=F1 (1 W H)14.29
505] 341/hpk FeEdlil G2 B t)14.67
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10 5] 3281 =k 1 (R WERET)13.78
2[ 4] 151@ s KA 1 (P2t H)13. 80
3[ 2] 6164a7 KBI2 (5 A H1)13.81
410317078 /73R Fnt 2 (B & H)14.11
5[ 8] 5047%% gk k1 (B v $)14.13
6L 7] 606 =)IDKE2 (& AN H)14.16
T 6] 8943 Fn1 (T M & B9)15.43
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103] b2 wH1 (kB K %1427
2041 6211138 B 1 (= W )14.61
3[ 5] 447 m Ys5L2 (E B KE #)14.82
47 6] 263 1bH &1 Gm JII H)15.03
5[ 8] b71HJL HE#1 (kLB K F¥)15.05
[ 2] 564F [ BE1 (kB K F)RIG
[ 7] 2527 % @kt 1 (W )1l o) KI5
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1[ 2]
2[ 1]
3[ 6]
41 5]
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6[ 3]
710 4]
8[ 8]
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1[0 7]
2[ 6]
3[ 8]

41 111507 K A&

5[ 5]
6[ 3]
10 2]
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1[0 1]
21 5]
3L 2]
41 8]
5[ 3]
6L 4]
10 6]
8L 7]

[1248] (
182 7 REsE 1 (b A d1)13.
TR 2 O IR )18
ER2 (1R K18
22 O IR )18
A1 (BB = F)14
HE1TM B A4
gLk 2 U I )14,

1[ 2]
21 5]
3L 7]
41 6]
5[ 3]
6L 8]

70 411209 #9{%

(1448] (
381 F g K& 1 (Il 78 ) 13.
v )13
183 KA E AL WL & H1)13.
)14,
5374 & BL1 (35 B 7E)14.
205 /)N iE REAT 1 OB 1R ) 14,
Bike 1 I3 )18,

1[ 2]
2[ 3]
3[ 8]
41 4]
5[ 5]
6[ 7]

70 611208 87 H
(1648] (

1[ 5]
2[ 2]
3[ 6]
41 4]
5[ 8]
6[ 3]

[ 7]

( -0.1 m)
392 4 )1

172 % 1
650 74 A
382 ' Iy
393 H H
360 jiE H
478 /)N 1L

( +0.6 m)

B2 Ok E

33010~ EHE2 (E R dni12
3031 O B+ 2 RO WEREAH)13.
1 (/e 13,
o H)13.
=1 (fTHKXHE$)13.
755 K& A 2 (Gr4/h k) 13.
730 % BE K2 Wk db)13.
f22 (db A H)RIG

756 5
B2 (i
109 /1 &

161 /v #K
+0.8 m)

89 1@
470 |
832 1 &%
762 W <y
306 5
163 /N ¥
INAISRE 3
161 1% ik

w2 (B B

+1. 1 m)

202 1 3
80 it
218 K 7t
364 % I
144 g5 K

+0.9 m)
508 &4 1 &1 (B

259 )11 g5 AR\ 1 (F 1

+0.5 m)
395 £ H
178 A 1
152 )11 )5
323 fift [l
336 Fk 1L

60 17 i
450 % &

BiME2 (B8 & = J0)12.
323 {2 RULAT 1 (PRASWEFET) 12.
FHIR 1 (PFZ=/NEF ) 12,
—)12.
FHAL T (b I 79 )12,
SR 2 (B A = F)12.
i1 (BE A = )12
K 2 (BN BI) 13.

B2 (kR K18
Fd) 13.
B OR A P13
i S 1 (/) 18,
AN T GRBELRF)13.
k2 (e A H)13.
2 (P ) 14,
RAK T (Pra/hEt ) 14,

E &2 (B8 & = J)14.
UK 1 (JHZs /gt H) 14,
— & 1 (F&E/NEH) 15,
Bm2 (E B )15
EAL (2 B )b
MR 1 (AT | E %) 16,
w2 (kR KBRS

56
67
86
94
95
97
97
07

1
07
13
20
28
28
40
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17

39
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19
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26
36
89
12
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18
35
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00
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1[ 8]
2[ 3]
3[ 4]
41 2]
5[ 5]
6[ 7]
70 6]

D AN
/A
e 3

1101305 H )14 SR8 2GR 1l H) 11,
2 369/ Ak 3 (BB & = FU)11.
ZR/NEFH) 11,89 (+1.9
= Bi)12.04(+1.9
H1)12.05(+0. 6
i 2 OR B & H)12.06(+1.9
H)12.07(+1.9
g 2 (k2 K ) 12.08(+0. 6

3 71577 [H
4 383 I gk
5 7023 4 &
6 828 ¢&n A
7 306 = 15
8 8618

hEEAELZF 10 0m RE(1548)

(18]
1[ 8]
20 1]
3[ 3]
4[ 2]
5[ 6]
60 7]
70 5]
[ 4]

(3#8]
1[ 4]
20 7]
30 1]
4[ 3]
5[ 6]
6[ 8]
10 5]
[ 2]

[548]
1[ 6]
20 7]
3 2]
4[ 4]
5[ 8]

6[ 11150542 L

70 5]
81[ 3]
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73033 3¢ Bk &K1 (B R &)50. 97
8 4021 X W g =F 2 (B2 % e K)51.02

—fi% - SREF 40 0m R GHE)

(148] [248)
10 211028 RAFO7R7= 2 ( Bk )1:01.99 1T 111036 4 ACH 1 ( ik )1:02. 39
20 3J1061¢n K B2 (B B =)1:02.33 2[ 51424289 R  f& 1 CREHRmEE)1:04. 58
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